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The Amazon rainforest is the largest rainforest in the world, covering an area of over 5.5
million square kilometers. It is home to an incredible diversity of plant and animal life,
and is considered to be one of the most important ecosystems on Earth.

The Amazon rainforest plays a vital role in regulating the global climate. It absorbs large
amounts of carbon dioxide from the atmosphere, and helps to regulate rainfall patterns.
The rainforest is also a major source of fresh water, and provides a home for many
indigenous peoples.

1. What is the main function of the Amazon rainforest?
(A) To provide a home for indigenous peoples

(B) To regulate the global climate

(C) To provide a source of fresh water

(D) All of the above

2. How many square kilometers does the Amazon rainforest cover?
(A) 5.5 million (B) 10.5 million (C) 15.5 million (D) 20 million

3. The somber silence in the room was broken only by the ticking of the clock. This
ticking of the clock made the old man think about his life’s journey.
Question:

What is the meaning of the word "somber"?



(A) Happy (B) Sad (C) Excited

4. He will his post when the enemy will attack. The
delicious chocolate cake.

(A) desert, dessert

(B) desert, desert

(C) dessert, dessert

(D) dessert, desert

5. The teacher_took him to task for not doing his homework.
Write the meaning of the underlined phrase.

(A) scolded him

(B) praised him

(C) ignored him

(D) rewarded him
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